Name:

Price of Food Choices

Directions: Calculate the total cost of the food in each box. Show your work!
Number the small boxes in order from lowest to highest cost.

per pound pound

_

O 6 pounds of apples at 69 cents 4 pounds of cherries at $.99 per

cents per pound

9 2 pounds of grapes at $1.29 per \Q/‘ 5 pounds of peaches at 69
i pound <\|'7J

% 5 pounds of peas at 49 cents 2 quarts of strawberries at $1.69 a
per pound quart

2 watermelons at $2.99 each 5 pounds of tomatoes at 79 cents
per pound

3 pounds of blueberries at $1.00 per 4 heads of lettuce at 89 cents a

,?9 pound é&/% head

~

&




Name: Answer Key

Price of Food Choices

Directions: Calculate the total cost of the food in each box. Show your work!
Number the boxes in order from lowest to highest cost.

6 pounds of apples at 69 cents
per pound
6 X.69 =%$4.14

9

4 pounds of cherries at $.99 per
pound
4 X .99 = $3.96

9 2 pounds of grapes at $1.29 per
pound

2X1.29 =%$2.58

1

8\(/‘
O&

5 pounds of peaches at 69
cents per pound
5X .69 =$3.45

5
% 5 pounds of peas at 49 cents 2 quarts of strawberries at $1.69 a
per pound quart
6 X.49 = $2.94 2X1.69 =$3.38
2 4

@ 2 watermelons at $2.99 each

2X2.99 =$5.98

&

5 pounds of tomatoes at 79 cents
per pound

5X.79 =$3.95

10 7
3 pounds of blueberries at $1.00 per 4 heads of lettuce at 89 cents a
pound L % J} head
3 X 1.00 = $3.00 LL 4 X .89 = $3.56
3




